H & 0l & AHS B Ml A

20208 =0ile LESIH RS

A HHS

B GRS FOIME BHoIEZ
el AEGEE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
gHS 595,420 562,047 33,373
gHs Fudg Hsd 464,815 429,883 34,932
ANEHAE 29 424,058 389,126 34,932
oy N2 158,760 125,354 33,406
202 04| 1,020 1,214 A4
01 2K 1,020 1,214 A194
OAIBZZ 2A&EH
60,0002 x3& x33] 540
O2AZslo] U AL &4
60,0003 x22& *43] 480
301 EtE N = 157,740 124,140 33,600
07 S8 -0 - 2243 150,270 116,670 33,600
Oosd JlE=¢g 400,000 =24 x12& 115,200
OS& 0= 400, 0002 x24 & 22 19,200
Osd 3o&=A ¢
20,0003 x24B 22|« 12 11,520
oty g3l 25,0003 +87 H 23] 4,350
11 #AIAMHIXIZ S 1,710 1,710 0
OAZTR, MOIL S BAT B4
10,0002 x37 & x32] 1,110
OABZZ SA S BAT B4
10,0002 * 102 *62 600
14 IIEt2 83 5,760 5,760 0
OSd Sl 20,0003 x24H*12& 5,760
XIS SSAFE (FIF 01014t 220,000 220,000 0
101 @1A4H| 22,255 4,778 19,523
04 JIZtNZ22 XS 2+ 22,255 41,778 19,523
OElZ 2=y SUHIgEE &5 29 22,255
—JlZ2s 60, 1803 x4 90! 21,665
—1NEES 21,664,800%1.75%& 380
—&HEE 21,664,800 *0.966% 210
201 er2&y| 63,465 22,909 40,55
01 AtR2t2|HI 56,465 19,909 36,556
OElZ 2=y SUHgE &5 249
7,745,000+ 14 7,745
OFSAS Us 4831 29 15,000
—ZHA S MRES
2,000,000 %14 2,000
—SH=UA =Y
3,000,000 *14] 3,000
—BHEOHED| M2
312,500 x4 2| «8 2 10,000
ORclsUl 44 W2 "WSYSs" =29
3,520,000& *14] 3,520




2A:

gHs

M NS FOME BOSX
el AEGEE 29 (SH9 H2)
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
O=elsul telol ZSHXIJAALS
200,000 *14] 200
OO0t= XI0H W= 5,000
—2AZ 120,000& 403! 4,800
—£22 S ANR8E 7Y
200,000 x 14! 200
OFUAHEZ A2 el At
20,000,000& 14! 20,000
OFAHE 0IAIHE ZRIEMHIA
5,000,000 * 14! 5,000
03 At2gH] 7,000 3,000 4,000
OYH= OtLECH LHs&H
7,000,000 x 14! 7,000
206 =8l 4,000 24,730 220,730
01 M=l 4,000 24,730 A20,730
O 0Pt= XoK oY us
500,000 x8& 4,000
301 LEBEF 10,280 10,280
02 MBI 2EHE S (HUAHS, NSTHA) 6,800 6,800
O=ReclsU4l oglol 283 XA
6,800,000 » 14! 6,800
11 HALAHIXIE 3 720 0 720
O=RelsUl 24 XY "WSLS" 29
12,0003 x5 x 123 720
14 J|EI2 43 2,760 0 2,760
folsUl LA THE WSES" 22
230,000& =123 2,760
401 Al HIZL S 0HY| 120,000 130,000 A10,000
01 Al&HI 120,000 130,000 A 10,000
OEHZ A+ HatEs
20,000,000 * 14! 20,000
O8gxSsuY Xote 83t B
10,000,000 & * 14! 10,000
OLtEDIEIt7I| AL
10,000,000 & 14 10,000
OAlEH e X & H|
20,000,000 * 14! 20,000
OsgMdD| &8 0TV /A B A
20,000,000& * 14! 20,000
O=g MDD HEE CTV X1 ALY
10,000,000 & 14 10,000
OsUIM=EAIE 8X1 £ FHu]
20,000,000 * 14! 20,000
O3 & Helstg s sAl2el
10,000,000& * 14! 10,000
FEAHO A 2 1,200 1,200
301 LEBNEF 1,200 1,200 0




A EHS
B GRS FOIME BHoIEZ
el AEGEE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 dALEEIXIZE S 1,200 1,200 0
O=2FMUA B d SH2)| 2|24
20,0003 x302 +23] 1,200
FAUXX & HEH =29 44,098 42,572 1,526
201 Zet=3h] 19,800 19,800 0
01 AtR2t2|HI 19,800 19,800 0
OFDIXRIME LBr2BH|
150,000« 12& 1,800
O=2UXXIAH 22=&
50,0002 x30F « 122 18,000
301 EtE N = 24,298 22,772 1,526
11 #AIMHIXIZE = 1,200 1,200 0
OFNXILESE S HEXI2
40,0002 30 1,200
14 0Bt 2a3 23,098 21,572 1,526
FERXIE NHESAEL &8 XS
11,0002 x2S * 102+ 122 2,640
OFINXIE 23 ALY 42 X
10,0302 +BAI 2H+202 123 19,258
OFQMIME T208 29
100,000 12 1,200
MDA ¥ AL =SB ALY 40,757 40,757 0
HEZEOH AL 30,000 30,000 0
401 AIEHIZ SR 0HYI 30,000 30,000 0
01 Al&HI 30,000 30,000 0
OEls F=os# 2323t A
10,000,000& *32] 30,000
A2 =U=IAAS (FUZ A0 10,757 10,757
401 Al HIZ S 0HbI 10,757 10,757
01 Al&H| 10,757 10,757
OEX 2= At 344,000 14! 344
Obr=ote 24 At
10,413,000 * 14! 10,413
HYE2LAHI(ZHS) 130,605 132,164 1,559
eIg =g 53,086 50,258 2,828
el =gl 53,086 50,258 2,828
101 @124H| 53,086 50,258 2,828
01 2 53,086 50,258 2,828
OAlt2I22+E
11,9502 x 112 *30AI 2+ 123 47,322
OARZ2IZ2Z (LH2HI4)
96,0592 18 +60 5,764
=3l 77,519 81,906 N4,387
Jl=23H] 77,519 81,906 N4,387
201 er2&| 33,859 38,206 N4, 347




2A:

gHs

M HYRAZHI(ENS)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al22t2lH] 18,284 20,900 12,616
ONSEE ZARE S 72
14,0002 x 12 x 122 2,016
O=AEX 72 (M)
22,0002 108t A% 123 2,640
O=Zgd &: 275,000 x2CH+62] 3,300
Ogd=)| & &Rz 200,000 122 2,400
OAlE 2 =2 MZ
50,0008 %122 600
OgRFa SZ20MAHI
9,000 x10 *43|x 122 4,320
OgR=l HldsF S 7
608,000 14| 608
OSSaad HIdE 4X & RAl2ell
200,000 x 122 2,400
02 S3=gHl 15,575 17,306 A1,731
O&IINEZ 700,000 * 128 8,400
Odot=k AIEE 100,000« 12& 1,200
Ostes 60,0002~ 12 720
OoR#EKs 300,000 x 12 3,600
OAEZEHl S| 1,000,000 *14] 1,000
O2EXg FAIHI(29K15426)
655,000& x14] 655
202 04l 32,400 32,400
02 XN 32,400 32,400
OZA04H| 225,0002 x 128« 123 32,400
203 HR=4AY] 11,260 11,300 A4
01 J 22 LR FA| 7,700 7,700 0
OgN=s& 7,700,000 *1H 7,700
02 32 JRHH 2= 560 600 A0
YEOKH R S| 560,000 12 560
M EASHLRFAH 3,000 3,000 0
ORNSgE =]
250,000& 122 3,000




